Best model for HELP J143601.851+345426.620 at z = 1.222 x2=2.8
OPTx?=1.63 IRy?=7.31 threshold (OPT IR)=17.78 [um]

102 3 Stellar attenuated
i e e Stellar unattenuated
1] m —— Dust emission
10 ’ﬁ%] —— AGN emission
] = Model spectrum
0 ] e Model fluxes
10 E M oObserved fluxes
Z: 10—1 i
E
x 1072 4%
=
[N
10—3 .
10—4 .
s 1
R0 1
=) 3
q_— 1 N
= ] == (Obs-Mod)/Obs
5 ] L
2 /|
n
O 0 - o SEEEEEET AHF1----—---—————————-
—_
()
2 /\
S ]
© -1- T T I — L R LR | T T
r
& 10° 10! 102 103 104 10-

Observed wavelength [um]



